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Show all your work.

Answers out of the blue and without any supporting work
will receive no credit even if they are right!

Write clearly. Box your final answers.
No calculators allowed. No cheat sheets allowed.

After you get the test back, if you consider that something was incorrectly graded,
DO NOT WRITE ON YOUR TEST!
As clearly as possible write down your version of the story on a clean sheet of paper,
attach it to your test, and give it back to your instructor for further consideration.
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problem | points score
1 12 pts
2 30 pts
3 10 pts
4 8 pts
5% 8 pts
6 20 pts
7 12 pts
TOTAL | 100 pts




1: (12 points) The graphs of 6 functions are shown below (graphs A - F) together with the graphs of their
derivatives (graphs 1 - 6). Match the graph of each function with the graph of its derivative.



2: (30 points) Find Z—Z

(a) y = (322 + 5z — 7)(1123 — 132 + 17)

(b) y = cos(lnx))

(c) y=In2

(d) y = cos™'(e”)

(e) zy® = yr — 1

(f) y=2a*



3: (10 points) Let y = 3z% + 2. Find the derivative of y using:

(i) the limit definition of the derivative.

(ii) the power rule.

22420

4: (8 points) Find all values of = at which the curve y = “ =5

has a horizontal tangent line.

5: (8 points) Find an equation for the tangent line to the graph of y = In(sin(x)) at = §



6: (20 points) Calculate the following limits:

tan @
I
(a) 013(1) sin 6

3 —Tr—6
b) li
()x%x3—3$2—1‘+3

(©) Iim ( 1 cos(2z)>

z—0 .732 IQ

(d) lim (22)

r—00 €

li *
© 15



7: (12 points) A block of ice in the shape of a cube is melting at a rate of 3 ¢m? each minute. At what
rate is the length of a side of the cube of ice changing when the volume is 64 cm3?



